[ Efficiency vs vertpos |

.................................................

.............................................

.............................................

o
o
[e0]
LA REENRREE RRNRRLE LS LGN LN RAR

0 0F -t oieeeeeees LA SRt
0.06F |-+ Beeeennnd
0.04 b
0.02F X STRTRIRE e

F |++*‘*’*:l- N
9 J--G_ T4 11 1 1L 1 11 11111
T 3 £
@ L TR
J_; 1- L aREE -+

0.9 : 3
1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01
e

Ratio

[y

™3P =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

g +® T
5 :
o 17
| ERERE T F T : :
0521510 -5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


